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Exercise 3 Section A Jee Advanced Previous Year S Questions
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Exercise 3 Section B Jee Main Previous Year S Questions
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A —
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Exercise 4 Section A Cbse Previous Year S Questions
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tan '(z — 1) +tan 'z + tan (z + 1) = tan" ' 3z.

O A

18. g, Pifare fos

6z — 8x* 4 1
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Exercise 4 Section B Potential Problems Based On Cbse

1.cot1<— %) &1 TR | FTd Hifor|

O Az
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T 4 2
Q i w
1 1
10. I sin '2z4/1 —2? =asin 'z 3R z ¢ [——2,—2] g dl
2 — a?
3 I A S1d HIfS |

Qm:maa



https://dl.doubtnut.com/l/_ZKyKMKmKOvyn
https://dl.doubtnut.com/l/_vQlW4WMj1Z6s

